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b. A>D>B=C
Bulb A has the largest current through it, making it brightest. The voltage across bulb D is the same as that
across bulbs Band C combined, so it is next brightest, leaving B and C as least bright Bulbs B and C are in
series, and thus have the same current through them. so they must be equally bright.

c. i The brightness of bulb A decreases. The total resistance of the circuit increases so the current in bulb A
decreases.
ii. The brightness of bulb B increases. The current (and the voltage) across B increases. Even though the total
current decreases, it is no longer splitting to do through the branch with bulb D. Another way to look at it is
since A has less current, the potential difference across A is decreased. this allows a larger share of the battery
voltage to be across B and C.
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a.  Since the clock requires 15 V it must be directly connected between A and B. Since the radio requires less than

15 V, there must be a resistor in series with it.

A

B

b.  The current through the radio (and R) is 10 mA. The voltage across the radio is 9 V. which leaves 6 V across

the resistor giving R = V/I =600 Q
c. P=IVwhere V=15VandI=10 mA +20 mA =30 mA so P=0.45 W and energy =Pt =277J




